The community hospital is studying its distribution of
the hospital gave the following information:

You did not answer

random sample :1

| Type of Patient || Old Rate of Oc

R

nces || Present Number of Occurrences |

a)  [pvalue = 0.199, RHa]
® [p-value = 0.398, FRHuo]
[p-value = 0.044, RHo]
d}  [pvalue = 0.044, FRHo]

e)  [p-value = 0.398, RHao]
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Select the [p-value, Decision to Reject (RHp) or Failure to Reject (FRHg)].

|| Matemity Ward || 20% ) || 73 | G 2,2

~| cardiac Ward || 2% | I 86 | Q4.5 2.

- Bum Ward | 10% Y 29 | 3| |

~{ Children's Ward || 15% I 48 | ' <

=i All Other Wards || 23%  ~ = 75 | "H(' l
Test the claim at the 5% significance level that the distribution of pati ntl.i.n-muJ'Jwards not changed. s a
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level?

@Ipﬁraiue = 0.010, RHo)
—_—

b}  [pwvalue = 0.010, FRHo]

—

¢)  [pvalue = 0.060, FRHo]

d)  [p-value = 0.005, FRH0)

e)  [pvalue = 0.005, RHa)
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You did ngt answer the question.

Hippocrates magazine states that 32 percent of all Americans take multiple vitamins regularly. Suppose a

le to test this clai d found that 273 did larly tak ltiple vitamin. |
e to test this claim and found tha id regularly take a multiple vitamin. Is Dnl 50-"“[."!_ bep

researcher surveyed mm

this sufficient evidence to conclite that the actual percentage is different from 32% at the 5% significance

e — Ne—

Select the [p-value, Decision to Reject (RHg) or Failure to Reject (FRHg)]. 2,

3p(2ya5¥3) = .009% < ,05
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You did not answer the question.

Among 8 electrical components exactly one is known not to function properly. If 3 f 3 components are selected
randonly, find the probability that exacfly one does not function properly.

a) . 0.8750
n(s)= ¢C
@ 0.3750 ‘3

0o P oxaetly o daudint fanckon)

d) 0.2500

e)  0.6250 ]C 'TCZ _ é_‘___
l "5, L3S

f} ' MNone of the above E c, %
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You did not answer the,question. 'P =7 usSe P —

&
female truck drivers based in five southern states
ppte size needed in order to make the estimate accur
“oypf the true pmpﬂl’tlﬂﬂ with 99% canfldence What is the minimum number of truck drivers that the
mitld sample in these southem states in order to achieve the desired accuracy?

An oil comparny is interested in estimating the t

¥
b) 16573 Mt -Z:,qtl = lngq{a

c) 16602

d) 16581 le > QQQD .5(}‘.g)

16590 m

f)  None of the above
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A simple random sample 0>é

M

r\"‘mu did not answer the question.

8th graders at a large suburban middle school indicated t

A
P

f them are
invelved with some type of after school activity. Find the 98% cenfidence interval that estinftat€s the proportion of
them that are involved in an after school activity. —

@ [0.799, 0.981]

b)
c)
d)
e)

fi

[0.699, 0.931)
[0.849, 0.854]
[0.799, 0.781)

[0.719, 0.981]

Mrna nf the ahowve
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\C You did not answer the question.

In a large population, 76% of the households have cable tv. A simple random sample of 225 households is to be
contacted and the sample proportion computed. What is the probability that the sampling distribution of sample
porportions is less than 82%7?

@, - p(p < 99 = noreadedd (agu ,-3, 1,

<) 0.8491 ? ? \

d)  0.0175

e) 0.4912 Al (l" -“’.)
<y

f) Mone of the above

W (uy)
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You did not answer thesuestion.

Lloyd's Cereal company packages cereal in 1 pound boxes (16 cunces). A sample of 36 boxes is selected at
random from the production line every hour, and if theg@Veralferwyeight is less than 15 ounces, the machine is

adjusted to increase the amount of cereal dispensed. If themean for 1 hour is 1 pound and the standard deviation
d, what is the probability that the amount dispensed per box will have to be increased?

3,2 '
PE= 0.0304
b) 0.3773 P(Y < iS) = nD{mﬂ._\ Cdp{—qqqu [g_ f[ﬁ%—

J
¢} 0.9698
d)  0.0608
e)  0.2304

f) Mone of the above
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You did not answer the question.

Suppose you have a distribution, X, with mean = 10 and standard deviation = 3. Define a new random variable ¥ =
58X - 5. Find the mean and standard deviation of .

a) . E[Y] = 50; oY = 10 E[xj 4._“0 éx = =2
b} | E[Y] = 50; ov =75 Ez‘g_){_g] _ gE&j- g_ _ S‘lb -( '_.L{S—

c)  E[Y]=450Y=75

'.E[Y]=45;m’=15 69.(\§- = 5-5)(' =[S

el E[Y]=450v=10

f)  None of the above
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You did no%s

wer the question.

-ﬁ\'{‘ f.b' In testing a new drug, researchers found thuf all patients using it will have a mild side effect. A random

sample of 15 patients using the drug is sel

w —7

0.009214 n

b}
c}

d)
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0.05921

0.03921

0.04921

0.01921

Mone of the above

Find the probability that exactly two will have this mild side effec

POi=2) = bowmpdf (15, .01, 2)



You did not answer the question.

The probability that a randomly selected person has high blood pressure (the event H) is P(H) = 0.5 and the
probability that a randomly selected person is a runner (the event R) is P(R) = 0.2. The probability that a randomly
selected person has high blood pressure and is a runner is 0.1. Find the probability that a randomly selected pers:

c) 05 95 ‘{_ ﬂa B ‘[
d) 02

0.6

fi Mana Af tha ahava
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You did not answer %e’questinn.

A manufacturer of matches randomly and independently puts 21 matches in each box of matches produced. The
company knows that cne-tenth of 8 percent of the matches dgre lawed. What is the probability that a matchbox wil
have cne or fewer matches with a flaw

a)  0.006813 ‘ .003 P{Md

0.9878 N~
c) 0.9920 P(}{ < I§ = bLﬂDM Cd‘(:(.cﬂll.ODE] |\

dj | 101431

e}  0.8448

f)  Mone of the above

C— —
P(%¢3) = P(x<2)
P(x>5) -P(x25) e Lo
P> )= —Plxed)
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